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TH3FE FERE

- RSB L AR TS

O—MRBRTEEHR

AFLIER

& T4 wALE ALY ERH
w1 RPN - FRPE X RR AH— 4,125,000
k2 TP X R AH— 3,102,000
k3 TR I M X B 1] A 3% 2,563,000
ik 4 TR\ Z P HIX (7PN 4,477,000
ik 5 | = A AT HIX B4 F—T3 4,620,000
ok 6 TR B X (R 3) (S 2,398,000
w7 TR\ B M X (ZPNER 7,315,000
ik 8 TR | ZRHE X R e R 2,552,000
ok o TR|BARMIK (IREEILR - 87 Lo 7R (7PN 7,095,000
Hhik 1 0 TR (4 Bkl X () FH Hh A AR 5,797,000
R 11T TR | BB - MO AR SRR (P 1 5 - SBAERRHR) NG 3,718,000
b1 2 T HRTE BRI R R D X (& A h—T3 1,793,000
i 1 3| P R B L A A Ygﬁﬁ%@%gﬁﬁ 8,569,000
AFLE : BREEAN T ¢ v 7/ —E R
Hbk 1 4 TR\ R N R AR () FH Hh AR 550,000
b 1 TR |EZEHIX (ZPNER 3,883,000
A 2 TR D EPAHIX FUSHR G BISE IR 8,987,000
o ATR|BRE HE - BifE - ma— 5 0 NHIX {7 7,348,000
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des 5 TR GET -\ 7 A X (7 3,641,000
desk 6 TIK|\J7 - AEHIFHIR (ROBERR - il 0K P A g 4,081,000
Ak 7 TN - R0 BRI (R A R () FH R R 1,870,000
A 8 TR\J7 « [LFEHX SEFnBZERR 1 S 2T 8,767,000
desh o LRI\ TFTHIPK (IHY v & 7 B#R) gk F 858,000
etk 0 T K HIX RN B ZERR 0 S F 2T 3,729,000
ka1 1 TR | BROEHi X S = 2,585,000
ek 1 2 T | B X S = 2,354,000
e 3 TR|ZR b - MR - X ()75 AR 4,741,000
k1 4 TE| EA <Y K BWEALSD 7,986,000
A 5 T| AR B BPEHIX SEFnBZERR 1 S F 2T 4,070,000
Abs 1 6 TR | HF S X (ZPNER 2,475,000
k1 7 T SEOR] - 7 MK TR T 4 v P —E R 2,365,000
ks 1 8 T | HiT X ()t e 1,177,000
Ak o T| AR b - FrHHX SEFnBZERR 1 S F 2T 4,521,000
sz o TR b - BT - GIALRHX (% H 8,239,000
A2 1 TR A X RN B ZERR 1 S F 2T 8,162,000
b2 2 TR E RS FEAR AL H X (i A FH 3 ] 1,441,000
desh2 4 TR[A Y B 7 EE - BRI AR IR RS B 2T 1,705,000
desme 5 TR|(LEERL - A4V ¥y 7 EK (7PN 1,166,000
ek 2 7 TR\ 5 DR NS R (i A FH 3 ) 374,000
ka2 8 TI| R SRR - T v GIREE 3,597,000
Atk 2 0 TIK[ & A < 0 MRS B L 75 oA B A HEALH 3,542,000




